Model: AMX-100/ AMX-100FX

A Lo’

www.altoproaudio.com
Version: .2




CONTENTS

1. Specification
Block Diagram

Schematic Diagram

> w0

Printed Circuit Board

5. Wiring Diagram
—6—TestProcedure—

7. Electrical Parts List

8. Exploded Views & Mechanical Parts List

9. Notes



1.Specification

Mono input channels

Microphone input

electronically balanced, discrete input configuration

Frequency response

10Hz to 55kHz, +/- 3dB

Distortion (THD & N)

0.005% at +4dBu, 1kHz

Gain range

0dB to 44dB (MIC)

SNR (Signal to Noise Ratio)

115dB

Line input

electronically balanced

Frequency response

10Hz to 55kHz, +/- 3dB

Distortion (THD & N)

0.005% at +4dBu, 1kHz

Sensitivity range

+15dBu to - 30dBu

Stereo input channels

Line input

Unbalanced

Frequency response

10Hz to 55kHz, +/- 3dB

Distortion (THD & N)

0.005% at +4dBu, 1kHz

Impedances
Microphone input 1.4kOhm
Channel Insert return 2.5kOhm
All other inputs 10kOhm or greater
Tape out 1kOhm
All other output 1200hm

Equalization

Hi shelving

+ - 15dB @12kHz

Mid bell

+ - 12dB @2.5kHz

Low shelving

+/ - 15dB @80Hz

Low Cut filter

75Hz, 18dB/oct.

DSP Section (For AMX-100FX Model)

A/D and D/A converters 24 bit

DSP resolution 24 bit

Type of effects Hall, Room, Vocal & Plate REVERBS
Mono & Stereo DELAY (max DELAY TIME 650ms)
Chorus, Flanger & Reverb MODULATIONS
REVERB+DELAY, REVERB+CHORUS,
REVERB+FLANGER combinations

Presets 256

Controls 16-position PRESET Selector

16-position VARIATION selector

PEAK LED

MUTE SWITCH with LED indicator

Main Mix Section

Noise (Bus noise)

Fader 0 dB, channels muted: - 100dBr (ref.:+4dBu)

Fader 0dB, all inputchannels assigned and set to

UNITY gain: - 90dBr (ref.:+4dBu)

Max output +22dBu unbalanced, 1/4" jacks
AUX Returns gain range -co to +15dB
AUX Sends max out +22dBu

01

1



Power supply (AC/AC Adaptor)

Main voltage

USA/Canada 100 - 120V~, 60Hz

Europe 210 - 240V~, 50Hz

U.K./Australia 240V~, 50Hz

Power Consumption

11 watts (for AMX-100 model)

15 watts (for AMX-100FX model)

Physical

Dimension (W XD X H)

270mm X 310mm X 35/45mm

(7.79"X8.95"%1.01"/1.30")

Net weight

3.0Kg (6.61Ib)

Shipping weight

3.6Kg (7.94Ib)




2.Block Diagram

8

z
"NIT _NIASYT “Ag Umeiq| WIS dVINST EJIE]
1 0T 15943 £002-090-61 Bea
L0L0E0YIA WYHOVIO %0018 9-1 (0)ev
woisney “ON [9PON g
3TOSNOD ONIXIN OLTV
euL
2 _ =7
oz 34
5X 55
S
1HON ayvosa dsa
[P s [
's
. m|o|AH SINOHd 3
S 1NO0Y T0HINOD
¥ a
gt
1nd.LNO NOOY TOYLNOD ! Y| sne-LHoM™ M
| |
| |
| |
S e
SINOHd T
b SNE L33
1Nd1NO SINOHd ﬂw&
0 S3NO LNNNLIY XNY 5
| NdNL3Y XNV 0F¥3LS
T
z
B |
|
3 | ] z 098 MWN
B Fud
S
1Hon ( O—— O T B XNV "z
NOOY THLO OL M1Z 1sod
1431 (O— O
> € Sna-1Ho™
1N0 3dvL NI 3dvL ¢ No1—9
WOVHLZ Ly < o
. 3 SneL3TT . \E
5O - N ZW el M%
W:m.hIO_m ac
RELE) | NI P O A
T NIMLZ  XINOLMLZ | R
| (ONOWLL431
| ‘e
N
LHOI XIN NIVIV o - N P E
4 SI-NFET NI a¢
S \A , SNa-LHo™ \zmﬁ%@)
L o€
o | 3ONVIvE
| | 4| # (9-€) STANNVHO LNdNI 0Fu3LS
T |
| H oaw o1
| aPSH-~apSL+NIYL NI INIT
| apP09~0:NIVO JIN
LA XIN NIV s v
N Sne-L3T1
K] XNy
13AT1
1NO NIVIN XIN NIVIV
AN3S X43 NI3NT
LANSS XNV
S
~o—1] XV e Lo -
AaN3s Xnv . NIOIN
SNE-LET g RETER]
IERE P
ne mr WOLNVHd
<8 27 H aw o1 NIVO
X %7
£° g& (1) STANNVHD LNdNI ONOW
g 25

02_1




3.Schematic Diaaram

8 L

14 € T
"NIT _NIASM ‘Ag UMeIq] U9S™X4001-XNY K]
§ 10 T Jeus| $002-095-+1 ELE
Y160Y0H3A X4004-XNY v
uoISINey ‘0N [9PO o719
NN WL D
(ZHO"LHO ) HO ONOW LNdNI 700
181l ANDd ANOd ANDd dNOd
0oL 4Ny MOL 4niy
§ T0SXA00T-XNV coey +| 1610 ﬁw_%%wﬂ 192y +| 0610
XA00T-XINV XA00T-XIWV
DA+ ANDd apLy
€a ¢
INOLNVHd %E
a3y 852y
a1
uooL uoo} uoo} uool uool ___. va“m
20€0 00£0 2620 9020 020 _
* * * * 1= * = * ) a3y 13A 4O 4O
= T L T R R R 9ld1  vid1  zidl  0Ldl e
* * * * "R "R "R "R
204N 26N o6n ozn oin
T D S Du Du e Ions HoZL
u - ” o - - 1 Szzd
00l uooL uooL uool uooL
100 6620 1620 5020 €020
ANDd
wossyINeN =0TN ~6N  wossyineN =GN ~9N AN HA
" Hosv S Mol
e ved {eold
on. Ly U0 NO HMd
zred 8.10 » uo
s FEM9 89 y0z8 ML | ¥ooL Mvozva
Ml gszd | vsed | coed | owed | 1Gew |
ASZINLY = = R VAN AAN AN AAA—B 104 —K—{4+
5010 2 o N 23R+ gia  via
» _mmm_z.__ _mmm_z.__ _ T vre oL
. 08SHNIN
ASTINLY, 1T 38N 3.0 29N 052y
010 Z N 93K+
Sr. LP Q0L
PN vy 2810 ﬁy
w NN/
Hoz!
HH L
ehuL Shed  0OA+
ANDd
T ¥3LIN 1437
MoL = = = = =
59
(W)uee e
IS 2
WO zu08 e R 98eyd
oed z2d
o1 *m T
gy19 3068 NG doLy -20- -
iR ] 9UA vSLY ASEMNZZ 15 052-20 O_‘mvaw Al
o N2
oo g9 A0SINZZ ) ) s Agomzy N =
951 9610 5T
" am 9 _hoLmoooL 520 o o5
p 920 MP/L L8M9
5 % -
062y oL dzz dle ¢NI AN
CSNEIHDE AN 6eld = ¥€0 v AMd Hd
| [2-\4 20'9-ONS
( v_ 2L NOL10S) L dee — mw% . g4 v
wuzl L - \<<l_l
oo €Ly oz ve R .
vmo_.mw.; ZHNZT [42°] 1 € o
IHO3 5010 6T Iy <
(snaLaT ] 6Yg | 8ex
PN zeMz €810 1624 NsenLy %) UL voss  (Wug m:+ ‘ - ¢ cHA 6ed - ZOIN
pria] 6.4 Nvd 960 Senly - NosSY LIS 0MOL N T
¥910 RN Z€LD 0z acn € +
eed  Ley §@w.ﬂv ASINLY doLy
2o §m T <O
AL ASEINZZ
kY] a5
GPOY-~0L+=NIVO NI INIT
0k LS LS -
vy ou 20 9P09-~01-=NIVO OIN
6T ML
(W)uge e o0zy
6510 zp08 ‘N I
01 AsgInze oLy 062-20-D15E9-AP
0¥01 NO8SY 910 £X
8M9 0S4 8M9 aiLn
151y €HA 051y e 5 ‘ m+ 3%
(W)uzy NEINLY
- 9 _hQL/N00O0L [740) @ o3
€20 MP/L L8M9 wI%
\ ain [-TRY] 3¢
£ = oL Mosg e _l dle TNI 3ANIT
61 GHA LAY
9824 (0] dee dly AMd Hd 14y 20'9-ONS
(CSNEIHOR — AAN = — €18 0€0 dee —] 1y
(o)) + | = — T = MV/L 189 X
© % | Y n_mmv - b T
A ¢/ (Wuzy IS LG , o
106, 180 1210 zied ZHYZL M0z 82y 3M0LO mmmvwwm ASONLY nw_w_v +
oren = HO3 s \_u\_ z LUA 120 c oW
ST ] & S _ 1 N - ; N Hh
Sz zedz 0810 9524 u AGEINZZ
rad " 680 = Wy oiose et sznzy W8Sy vin ] A dozy
Nvd m /10 6Ld *m T 10
N

(€/1) X400L-XINV

03_1



8
NIT NIASY ___Ag umeiq] T0S X400L-XINY |
€ Jo g 10dUs| ¥002-d9S-p Bjeq
Y160Y0H3A X4004-XNY v
uoisiney :ON [9PO azIS
(9/SHO-P/EHD ) OIHILS LNANI oL

(€/2) X400L-XINV

uooL ugol ugol uooL uooL uook _
1610 €610 1610 6710 [T2ke] 8€10 )
- {ooA-
L _, 1 ﬂ 1 _9 1 ﬂv 1 ﬂv 1 ﬂ ool
(]
_oR: _ M _8% _ M _o&: _ M _ooS _ M _omS_ M _85 _ WossyINeN=TZN ~8TN
T = 3+ { 3 1 T 1 T 1 3T i (Wuge (Wuee
uooL * uoolL = uooL * uooL s uoolL * upoL = 6210 8210 708
510 2510 0510 810 1910 €v10 o1
919 osg 89
iy dozun  0zid
(W)uz
GELD
D%L ST
am
INOSSH 9HO-Idd
MLy u0L6 Mosg
vy >mwm=w¢ a9zn seid 96LHA
MY3d a3y ~n] ] ¢m | = = = = =
ALy B
. DIy ASZINLY As_v_cﬁ Moz 0X0k H_Hn_NN H dooL
= 86Y 160 ¥50 9zLy _Mﬂ__.ww..w ] €10 8€20
052-20-D1S€9-AP
|_ 8xX
VMONM_>» Uu>+ﬂﬂ!_‘w_ mmdm >ohmm\”_HMN Nnn‘u_‘w (W)ugl osg () 9HO-3dd - M+ = S
w)ugy n =
1S0d-XNY 050 gglLuA s >m~h\m% il )
(34d) oMo} H oF 1HOM
NI G
Hmon% 0M0L Ly 1 NS P oY .
Wossy 65 1 oy 8
»r ASZInLY azzn (W)uge deze oy
15V 9210 9€0
2010 ZH08
101y o1
{snd-1HON 1} =
L T
0oL (wuz)
85y ELD Moz
. sziy
OAE  camsy M_msw 052-20-91G€9-AP
%64 1o m X
SHO-3ud SHO-3ud +
Yosa ASZInzy Hoie  Mose ASZInLY S %
Py Szl | vazn o£ly V6LAA eely 099 roF (onow)L431
 snamEr . NL a : 9/ NI 3NI1
B SS)T zeNe ASZInLY o ~Te m “ EE
Asznzy | (Wuzy
901y 663 €010 o8y 299 €50 -
HO3
dez e)E dez |_
w2 ogd ML oud (Wug, osa ;%_H
6v0  V8LIA oD
0oL
2]
ZH08
01
89 osg 8319
SL auun vl
(Wuz
€€10
D%L ST
am
oSSy
MLy Ho0L6 Mosg
ASZTILY | ggLn g9LAA
s oviy 99 12}
Mvad a3y ~n ] ¢m | = = = = =
€al o
MLy s
R DAY - geld ASZINLY As_v_:wr M0Z 0xok dze dooL
= 164 €99 250 czLy ossy 5620
ﬂwwd asin 052-Z0-DISEQ-AT
|_ 9xX
dwm_s 8>+.w.wv“w_ s >°whw~ mﬂ__mw (Wugl  Mosg (W) _| m4 S
w)ugL n
1S0d-Xnv 80 golLuA pos >mmm% il )
(3¥d) oMo} oF 1HOM
NI T
Fmo.mm 0M0L A NP oY .
Wossy ovd 1 oMol o
er ASZTINLY (W)uee dzz o
5% g0zn yLLD 60
190 ZH08
oLy pes
sne-lHO } =
[ 89 0sg 89 =
€LY VILEA zLiy
00k (W)uzi
62y Moz
. zz
6ME s . -
AsZInzY am 052-20-D15€9-AP
8gy  ASZI M+ ox
Mosg yoLe Mosa SEES
ASZINLY ASZINLY
czaA LY | vein 8zLd VILHA oy g (onow)L431
* NL a ¥/ NI ANIT
CIELET e - ez ~fo—N | IR
T 2 >m~mmw< £vid Aszinzy | (wluzs
€8 159 160 ZHvaT
HO3
dez eYE dez |_
2010 189 NSZOLY 9010 (Wug,  Mosg E_E_“

b VSWEA 189

03_2



8

"NIT NIAST “Ag ume1qg] 20S'X4001-XINV EIIE
€ J0 € EEES| 700z-dos-yL -9ed
71607043A X400-XINY [A4
uoisiney ON [9PON azis
—
S3NOHJ 8 ¥ Td.LD B M.1Z ® LNO NIVIN 3 SANIS 3 XNV OFH3LS -

O STIDIPN I TTTOPN

ANAS-XNV

- - aNISXNY
- 2zzo
ANOd anoda NOO}
120 MHMG-AY
SR _ (31nW) H Vi1 [ET ) %
sa-xd T [oroo ING83ZZ-Sd MMG-AY
HEL §0zZ o1
o e 1 — P 052-20-DLSEGAr  _BMS ozey * ad
2 TRl [ —
bl SO 13S3dd NOLLVIYVA L 8 oeX T aAS+ + g
R £l NN w_mmw_w aNod M w [ATAREN £ TEC0OPN m TNIuXaT | S NLEXdE >
Nw ) ) w aNod 3 3 S 1 4 T_T60IPN anl'y
ol aND. I7| 7| T SLTAPN v Mm M__N ¥022Z 1 67N €220
Z|
(MSOALY) | AoOLNY 6 — e e L2 nos 2 ZX8 ¥3AVIH 1 §w 6LeY
oy i SO s4618AdI9LEAS | [Ts4s endrorEgs =1 9NO  aas+ ** ¢ LN @nw) | >
9 At HOLIMSL1004 (¥3%0114))vad wmeAd & &
¢ [ SN (MOT9)3LNI
n H ALY a1y
A0OL/ANLy 06¢ ¢ [N 2089 2089 a2
owmm Qec] 2Z00WNL : DOA- [452% 2317 pAYel A ¥
o | >
Sia 1 uaﬂ,m E.F|H|ttx Aa® oo mmﬁ— T T220PN m TNIOXAT XA
™D AAS+ DJA+ w%mn%
Il
amd Hd €2l A0OV/ANLy
INOLNVHd |z0r0
UMd NOLNVHd y
SO0+ | _Aoob/anszy
via
oA VG16L = toro
Nw zzul
o . |
ASZINLY ASE/4N000L Z009NL ool ASZNLY uool uooL uooL uoo} uooL ool
anod . = aNdd5op0 syly 6073 €1a 110 260 S/10 €110 6910 1910 5910 1910 L
o ao ] i in - - ¥ rxr
anod = diy wosstiieN =2TN ~ETN
v 8Ly ZRAGE/300004 NefzsiveNe|zsival| 0ved m & m m m m
AQL/AN000} >mmwwv z oLa 8070 . oezn | | ozzn 2€LNn ovLn 251N 2910 2/1n oven
0072 " T_* T T T e T T T T oonNOBSPAIN =ven
I L coe ! YA N st v uooL AgZInZy = = wwp UL = woL =  uo, =  uor =  uoL = uooh =
ares 0zHL s sisL cOouNk IND 910 160 e v210 0.10 8910 9910 2910 0910
052-20-DLGEFAr = = =
11X = y
i ._mmmmm,w, Sd
i s ey - S =
= 168322-Sd
LHO VET NogSs T aZMS v
T (4]
4 Py d
.>|ﬁWom|\w_\oxm\r,|___. ASZINZY  ELLN g 104 N T
O
052-20-Dlge9-Ar . ceeH 4 s O_ AsgnLy
1NOWOOH LY ®X Hoz! I T o =
H €22y
. - B €210
vEST ASZINLY = = =
1491 T = 980 1983¢2-Sd 158322-Sd =
i by dez VZMS VIMS T
= >|ﬁw.|\<<[_ I oMoL 0SSy <
* Hoek | oL wvo CEEANT ] lver 5 goin " - o
6iey NSlZSivE  N8LZsiva L9d g} cov
¥0zZk - agzn vezn =70 & 'e) L0 ) (aaum
I1zd - .+~ MiT _ v » 5 i
ASZINLY I veed O] PO
< 280 61y 9.0 ML
Mo YT NOOY T¥1D  XIN OLMlie z624
gz voly oL Nle [ — 0zLo - O ; Q ) @uHMn
¢ . (2428} dee SML  ASZTINLY
ozt Neegan®  neizgive 90 g2y oom%o Nmmmmzm%wn_ow
0SZ-Z0-DLGEIAT W
9ixX = : Ton00Y |SANOH
C 1N03dVL  NI3dvL
MOL
S3ANOHd [ o . )
dez = = = =
0SS
1210 >mmﬁ% asin = 0SZ-Z0'DLSE Al
dool 01X
{SnE-IHO Sha1roN 68L0 q.l | e
o8Ly N+ S INLIXNOY ® mw Vo [| T1HOM
MOSM  Mge n NLYX43 § @
9 BoTan oz "SR uN e I
N - 902y ovey 5
dez - - - -
-20- - INOSSHINFN = = =
052-20-DLSE9-AT ogsh siog sz OB -
SIX MOL AGZ/NLY VSN 1224 180 0S2-20-OLSE9-Ar
W% g oo o -
SNE-THORI | ~—
1HOIH VESTT I S LNOW LT g T N
9z NL [i Mz ¥ S TINXY | o F 11431
% i 1Y HOSM - HEE n TNLIXAT §a
] cony Asemny
Hozk 0g VOZHA b
2N LHOw 690 D
6024 | XIN NIYW Nnmmo SNINL3Y XNV
. eils e Asenzy TNYNLIY
1N0 NIVIN = = ieed o XNY 03¥3LS
0 _ INOSSYINFN
052-20-DLGEY-AP sos Az avin -
22 MOL 2 Agznzy nossy 120
ozl asin 9zzy o .
% S lled Gou [75) 05Z-20-DLSE9-AT
+ 5% =
SNa-LITT ] INOSSY 5 IXOV_ ]
1431 v Mm I T-LNOW avren Xnv
@ NL I Li6e
>|mWo|msz\<<|___. 8i14 Fo T I LoLy
Hozl 0e 1431 a NL ASZINLY
oLe €9l Py NY dzz
— XIN NIV ez TH ey - eee0 ASZINLY F2%0)
dece ME  AGZINLY vy 0LyD \'l
6110 oszy 2o SAN3S XNV 802y SAN3S XN

(€/€) X400L-XINV

dee
8€0

03_3



"NIT_NIASM Ag umeliq U9S"MIN-dSA-Xd
[ 193ys +002-980-€
22208043A asax4
uoIsIAey :ON [9POI ozIg
dSa-x4
181
NOOL NOOL V
6€€D 1£€D
NOILD3S LNO/NI dSVan i T 4+ oo
£6ENT o8BSy ’M Wossy ’M Wossy
oLpN 299N 269N ovvn
T 1T
NOOL = NoOM > - - = NOOL “  NoOL =
dhg+ WED 0yed  60LOHYL 8€€0 9€€0
o8vn
anona anona
anona
AN
any any
£6€0% [ _uu % anod  aned V_No%m Mozesyozz,
YLOHpL 1eva<oemy,
Q]
ug
9Lesve
el a ordlL (¥30M)Mvad
oesve v (mo)aLn
sia
AASH
aoovay
voia
Mol
Sovd
~—||
e d2Z
H0L %2 usL o573
{1 2 g —
2
— 9L
— oL
7 Sy 1no T
GSGaN
My vern " n
Ry-d YLOHY, PLOHY,
9 NS N 14 €
P 26vn a6vn
\ e
0L %5z UL
90vy LYED
anoa Wo8sSY
£ oss
601OHVL
asyn
MOL %82 Jug'}
6658  SPED
£YI€ OL IONVHO Mol

03_4




"SWA AB  INISNOD  NILLIWA pueog 398443 1e316iQ 8 A3d “ddv
LNOHLM INIWN20G SIHL 3INA0MAIH ¥O 3-X43 43HD
SId00 ON “Q3AISIY 3uV SLHIW T WvHaVIQ JILYW3HIS |  zoszi/ez 3Lva NIEID"T X3 -_-
|"4'S }405 eipay Jsny i8z89s  #83d zZ/gzisie #Ima NIGID T MuQ " HHM _Hm 5 | Hm Hm
L P | sisvevan| L1 LT
- S1SvEivan 52538 | =523
. *—o . +——o + +
ol _Iﬂ_n_lﬂ_N zZ LY Z z C
gl m lz| sgpv Q S1R 1819 ¢ zz m Q A S o
vdiontzzry | ==gagieszarsy | Y s=g=g=g=5 | sisvavan =z | noHn| =5 —L ¢
vl 3 el ps S 8=8=—38 al S8 10| == 8 3ol zzo
+ + +
zg Z ozl 9| H_N qll_nrﬂN_ﬂnrﬂNmmmm_ £z ClZ z AT g+
A g+ I Qs| ovja] [ |72 0 |8
O &} > - N Q
gy = av VIOHYZ 8 = 30| =5=35 >
SV Sy IHys 10 2 2|2 o4[a
- g Sd] zz 5 -_I 9 WN_ mmbm_ — z*G
Py e
viaHY 221 gl S|V gz YWY 0]y viaHys Yo ¢ 4 H m AP I |
SV gz| SV o NIf ¢
AS'Er 2
- |2V m A LWIWT 23l
N[ og
] El W e WY 3ars ¥3a1o0s
Y3 gz|Svad oV gz| o e NO Q3LNNOW JIAA+
' D ] -
gz Svyan sid 5¢ BY gz 6v N un HU —l. ° Z 5_
ZsYSVH ,|Svd  vid[ gg BY  ,z|8v g 2l o ol I0)
I 2 T5d @ o
Aes | B o el 230 G s| 4v 44dfiz 490 < = . za zwz T—orw zsa i S5l o od°
og|[IN wadf ggl |3V gl9¥  99[oz ] 97 20 9q 29 629 95d ‘l o olB
Q — =g I 750
w|IN = UA e =V z| =Y =dle =4 \ 3] cg 2wz L ezg osq Ble ol T
aloN xoafzt [Fv slvv  vafg vd|l AEE* ® a5 TS5 osd 11 D T J3A+
g| N T Bdlzg £V 5| =Y £df 4 =9 ta 2wz gz £5q £5¢ £ o ol 7
G Rl cHeHE 35 ¢
8V  gz|8v 2 8a[jp A A% zal¢, 2d W NS AR P ATRAS o 1] I
LY cz| 4v qu £4] o, £4] IV nl v \aly, d 8 Z| v 9| 8B v a2 vZ29 15 ZN3 S3 SNoIZey
8v  .-|9v X 9af[. gad|ov ov od| s, od - }e-—Fcr
vz = 6 2 gl E D E E vx 300, 10T 29e £Zzg 054 el
TV oz sv sa[g &d VOI0ATLZL
£z . 8 L + —
¥V | vV » va[, ¥d & X Vgl s| ¢ ZaW HL1NOA i i
s < . i s €23 nooy 300+Ee
TV & &V ga[¢ =d 0z|6i|8 g[St vi[si|2 (4 3001 gltn
N l——— —
ZvV. glzv zal, zd M 95389828 Zid ——300l : g
e Y \a [z 00T —tera S an %ISAS[T, ey — =001 AE'E+ VEH HIO)
o R S sor—m | sva 08 L 9 N[ 1
ov ov oa[7 ad £z ol = 1LNOA i
91 z zsa/svdf 1 ¢ m 9z, 3001 ¥£Y
038INTEZI TSy - P 7id ;,|252/8vy o[ - T v23 nool
N— m
o IIgov | v cz|ov Niaf, ol van ©
T g =
S5 S v oz| v 4319 - q o s o
S5 oI Zv|2v ez12v -Lad @ 1o e
ENT £l ;i
S5 EUEV |2V oclev —|ian o
T BIg vV |7V s kad AT 3
. — 1NoX[7 o .
Sl S zg|5Y NIx [ Z|3sas o uNIAf 10
q
= zZgav|av el ... ,., © olwe 2 923 nool
S L LD 4o m
<|D|mv= ZaZv|Zv ve|tY 0325 GRas “qsn D
ger sejag|cglselee| ivlzrlerry| S5 | lgic oliviva m .
0
EEEEERRER m&: al oviva INIA[ ¢ 10
o N ju e o = 822 nooi

SJISLSy2ivadn




4 Printed Circuit Board

31312372 TOP SILK

3 A4 Ci@ RS M
m/_I:I_I:U:I_
(@] Ag
]
il [
Ci ! !
E I I
1 1
|_|I':H|IE L
1 1
A4 A7 1 1
L] [11] o
1 1
AR?2 Z1 1
oo fca = !
(5 s ol 1 1
A2+ A26 A28 : :
LTI L--
€23\g23 R25 R27_R24[
=7 = [cer
CN2
[-==-=-==------ g9
1 1
1 1
|

PCB : 313123/2 Top Overlay

31312372 [ INTEANAL LAYER GND

04_1




4 Printed Circuit Board

_ _JH
L
a5 cin
W
L— —L cmcno
s
@ 8
L
ca7
W Tw
&) :
L L
ca cs0
s &9
wio
37
@ i
- - Q
s
W
@ an
i
<188
ol ©] K

Tar

<
= | § i
caa2 o ) NI
v P ,,; 1>
<]
+ +
|
Cc4d4 ‘O‘
+ +
n29 X2 (NI
470 g a E TR20
= J130
+ + 1 + + 'y =
- i | I Jie2
Jig €222
4 313 €55 48] ————%
chg _DCEZ % . ‘X! a X22
5
+ o v = 5
s + " + o +
- " ol 5
4126
= O Q |
=
— e CM\:‘ s
a3 L
€223 & | &
423 a2 U | |
a2 = cezo QCM O R g: g: N ene O
R241 — a2 —_— o |—
132 c76 c7a 459 m A5 e . ot
leeL®) =30, H=
e ] = 83 [— — W18 c40
HH 2 161 4 ca .
[ BB+ | — |+ |Bq v | [
| E— p— 102
| | w2 s cse .
= T S S v B
= [ =
wao _ S ms ]
5] T
’ i (- C 3
o + 5 + an
L cm cuz = - = ng2 Cﬁ @ 5
i 7, |c53 Ca8
] g g - )
E)| b= | &) = | 4 —
[~ @ X
|)eas VR0 m(de
: o —am
B A o N i i i o S @ =L
* LD
&) i F 0000..0.0 ' @, S
s s s w7 § e
L i
Ja7
" o con MOMOMOMCRCIC)
[URISER— Q¢ 963 e clo
O, eI .
& Q-0 3
L L . a78 ez
gt e S |
- ()
w oo Qlo = s e
W | ®) @ AMX-100FX
cies B UER040711
@ B I (Fea HEOIIO
C71 3
L0 Flo (D> QJ
A"

O

0

PCB : AMX-100FX Top Overlay

04_2




TN r—TO” - |l

N ~— = —_t N

Uu — S—
- i

= = = w =

= O 11 i
| ‘ R208 'R clorss eshol
e

e
F— - mgillll |||| ||||
=
- I ) Gl <1 Res RISR23
- R22 R30 R20 R24
- - — [
e = eI ' - ta 1l
- = ase
— e L] N - —a
= & g =" H =%
= R g o
[ i H\IH 5 o IR _
cm‘ | L = R219 @ ——
[ PZE 1 1 re7 —
] _ Y
& = —
T amar o emew sl | ==
. = LI ; * ] A0 76?5.
R - = = .- a3 1 'R Rzt | | cigo i
- - [ ] | [rez2 -

- L L1l o e
126 RS3 C13 i ra17
P4 ‘ | RI23 CI2R4+ || by H H| ||| 1 -
- IRIG4 gUI7 1 r 'l"lll 1 - 2
IENNNARRR AR 1'm|"||j s ll'llll-: il |:| — —
L} o , LI

—fas m:H = G Rz cag us® ciores
Gz s
"L 1 1

==

-
e, Tm

[]] = 22
E moecm [}
1 8 i o)
1 cm __Riga R
-
“ o3 cu
- -
_mHII— T |n o =
] |] }= | | = W= Zas
csoners
o] | | om
L RISS -_— Ry T
P = =

- T | B | “row
| - \m|| bl T i cao— &3 11
B e s 6 Ree7

cMHII

BECE B | [ I | [ "“’”
1 | ]
i Lt | T |
™ w postf.
1
Rm'—. p— f— 1 T mL
=
g
| I |
e G
| ens - -
ﬂu “-l e - -
d " m g =

- -0

PCB : AMX-100FX Bottom Overlay

04 3




?
AL

m«_-.g g =

. [ ] $ [ J
S L . o
o z,o
f\.O: o U 7
SRR o e ®
- J
S Do osido
@ | o8 DO ' g O '
'—[ﬁ?'a &
27 =0 L:".-

c[" : o

2

%ﬂ
%@




U47 Lo . [_] 3. R4A1TR412 U4 R414 DIS
DH:MIr M 0

A L I 7 P .
17c33¢ o B mec:sonns’__x_mp . 2
VERQ31014 e

PCB : FX-DSP  Top Overlay

TIERAI e

AT e GOt ewe TR %oy ]
11 — ea I:I LLTF | Ij g1
: L e | I‘:"% [ caoreze G uad g__a
B L = &;ﬂﬁgs

PCB :

PCB : FX-DSP Top Layer

PCB : AMX-100FX Bottom Layer

B gy BZ
fE 8 g e
0N

geeosd g
B Bk g
[ o Ry
® a0 -

FX-DSP

|
4
4

2
- \IX
[“%«:@

VERO31014

PCB : FX-DSP Top Overlay

B [ = (% g g TR ERE o ES
B = oy BT 8 B
1uF 8 ﬁ gg o EE
O W= boooocooooocoom! =

PCB: FX-DSP Bottom Overlay

04_3



5.Wiring Diagram

[a]

AMX-100/AMX-100FX

PHANTOM

SW10

CN1

SW11

ADAPTOR

POWER

05_1




7.Electrical Parts List

07_1



07_2



07_3



07_4



07 5



07_6



07 7



07_8



07 9



07_10



07_11



07_12



07_13



07_14



07_15



07_16



07_17



07_18



8.Exploded Views & Mechanical Parts List

SERARY

Machine type:AMX-100FX
Serial number:AMX100FX-00
Date:2004/01/01

08_1




SEREKRY

Machine type:AMX-100
Serial number:AMX100-00
Date:2004/01/02

08_2




Mechanical Parts List

Model No. ALTO AMX-100FX

NO [ltem No |ltem Description pcs
1 MAQ4527 |panel AMX-100FX ALTO 1
2 [MB03080 [rear board AMX-120 1
3 HI00026 |power switch RA12KKATOF 2P 1
4 HIO0171 |power switch R612KKATOF1 1
5 MG00238 |copper pillar M3*6*0.5PH 3
6 NIO1863 |key ©5.5*"W10*7.5 3
7 NI02083 |knob ©10.5*18mm 12
8 NI02633 |knob ©10.5*18 6
9 NI02714 |knob ®10*13.5mm 2
10 NI02817 |knob ©10.5*18mm 2
11 |NI00826 |knob ©12*18mm double color 4
12 NI02837 |knob ©35*11mm 534C 1
13 NI02386 |konb ®14*13mm 2
14 MGO00041 |screw M3*6 20
15 MGO00061 |screw M3*10 8
16 MEO00060 |nut JY-6351G-02-250 15
17 MFQ00061 |washer JY-6351G-02-250 15
18 MI01953 |heat sink AMX-100FX 1.5t*24*21*20.5mm 1
19 MI01906 [heat sink AMX-120 V1.1 1
20 NI02249 |insulate bean TW-1(TO-220) 4
21 INC00005 [silicone insulator TO-220 square type 4
22 MG00162 |screw M3*8 3
23 |MG00036 |screw M3*4 6
24 NI02834 |handle 208*33*26mm AMX-120 black 1
25 HK00838 |PC board P-AMX-100FX-DIP 1
26 HK00832 |PC board P-FX-DSP-DIP 1
27 HK01409 |PC board P-313123-DIP(AMX-140FX) 1
28 MEO00015 |nut 3m/m 4
29 NI02082 |knob ©®10.5*18mm 4
30 |MG00166 |screw M3*10 1
31

32

33

34

35

36

37

38

39

40

08 3



Mechanical Parts List

Model No. ALTO AMX-100

NO [ltem No |ltem Description pcs
1 MAOQ04530 |panel AMX-100 ALTO 1
2 [MB03080 [rear board AMX-120 1
3 HI00026 |power switch RA12KKATOF 2P 1
4 HIO0171 |power switch R612KKATOF1 1
5 NI02082 |knob ®10.5*18mm 4
6 [NI01863 |Kkey ©5.5*W10*7.5 2
7 NI02083 |knob ®10.5*18mm 12
8 NI02081 |knob ©10.5*18mm 6
9 NI02714 |knob ®10*13.5mm 2
10 NI02817 |knob ©10.5*18mm 2
11 |NI00826 |knob ©12*18mm double color 4
12 NI02837 |knob ©35*11mm 534C 1
13 [MEO00015 [nut 3m/m 3
14 MGO00041 |screw M3*6 20
15 |MG00061 |screw M3*10 8
16 |MEO00060 |nut JY-6351G-02-250 14
17 |MF00061 |washer JY-6351G-02-250 14
18 HK00838 |PC board P-AMX-100FX-DIP 1
19 |MI01906 |heat sink AMX-120 V1.1 1
20 [NI02249 |insulate bean TW-1(TO-220) 3
21 INC00005 [silicone insulator TO-220 square type 3
22 MG00162 |screw M3*8 3
23 NI02834 |handle 208*33*26mm AMX-120 black 1
24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

08 4




